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8L +801 %125, 0002 8,000
201 YBre oy 16,750 13,850 2,900
01 At 22l 8,850 8,850 0
(TR = ] 3,290
0 MY AR EX 2,325,000 2,325
0 2INLR E8 AZE 29 965,000 965
o284+ 1,960
0 HBHEAIASG ZaHct
70,0002 *14% %23 1,960
0=t 3,600
o dPLEY HAREX 3,600,000 3,600
03 B AFS 2 H 7,900 5,000 2,900
OZHEZH 23584 AQIZEF  4,000,0002 4,000
OLMHEZH 234 =0aH3|
1,900,000 1,900
OLMHEZN EB22A 29 2,000
o 23 HMEE=E 1Y 4004 *5,0002 2,000
202 04 1,000 1,350 A350
01 2LH 0 HI 1,000 1,350 A350
OS2 MY= HE2F U HlD As
1,000,000 1,000
206 M 24l 2,100 0 2,100
01 M2l 2,100 0 2,100
O2LMHEZH S HANE R HH 2272 2,100
o M= %X 102H%100, 0002 1,000
0o ©S otlE ME Y 2074 *55,000 % 1,100
301 LBt &2 1,000 1,000 0
09 BAAHI X & 2 1,000 1,000 0
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01 A& HI 44,514 0 44,514
OZHEZ=M =0H A=A
45,000, 000& %98.92% 44,514
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OZHE=M =0H A=A
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ZH E2H 234 HIRSA(EX) 150,000 0 150,000
= 105,000
< 22,500
Al 22,500
401 Al HI K 201 I 150,000 0 150,000
= 105,000
< 22,500
Al 22,500
01 A& HI 148,920 0 148,920
OZH B2 E2FH 272 H
150,000, 000& *99.28% 148,920
2 104,244
= 22,338
Al 22,338
03 Al 2 THHI 1,080 0 1,080
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= 756
< 162
Al 162
HE2HA U (HSHOt2I S AISA) 35,280 33,720 1,560
Jl2dul (HSHotel & A &) 35,280 33,720 1,560
Jl2Ztl (d=Hotel g A A) 35,280 33,720 1,560
201 Let24d] 13,800 14,040 A 240
01 At 2teltl 13,800 14,040 A 240
022+ 13,800
o EHg 60,0003 x2H x1152 13,800
202 oddl 15,600 15,600 0
01 SLHOIYI 15,600 15,600 0
OSE&Z 0l 100,000& = 13H 128 15,600
203 ¥ S =&l 5,880 4,080 1,800
02 33t P 2= 1,080 1,080 0
OZH=H 02l Z AL & 40,0003 27 1,080
04 NI 4,800 3,000 1,800
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